
3x58=

  30+__=100

Answers on the next slide

Fast Five 

52-37=

44÷4=

What time is it?



3x58=174

  30+70=100

Fast Five Answers 

52-37=15

44÷4= 11

What time is it?

19 minutes past 1



Can I solve word problems with division?  1) Read the question and 
underline the parts that 
seem important. 

Tim has 30 stickers to share 
between 5 people. How many 
stickers will each person get?
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Can I solve word problems with division?  1) Read the question and 
underline the parts that 
seem important. 

2) ‘Share between’ means 
that we are dividing. Write 
a sum for this problem 
and solve it. Remember to 
use your skeleton tables if 
you are stuck.  

Tim has 30 stickers to share 
between 5 people. How many 
stickers will each person get?

30÷5=6



Can I solve word problems with division?  Now try this one. Remember 
the steps:
1) Read the question and 

underline the parts that 
seem important. 

2) Write a calculation
3) Solve it using your 

skeleton tables if you 
need. 

There are 24 meerkats that 
need to be separated into 3 
enclosures. How many will be 
in each enclosure? 
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Can I solve word problems with division?  Now try this one. Remember 
the steps:
1) Read the question and 

underline the parts that 
seem important. 

2) Write a calculation
3) Solve it using your 

skeleton tables if you 
need. 

There are 24 meerkats that 
need to be separated into 3 
enclosures. How many will be 
in each enclosure? 

24÷3=8


